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Directions: There are 4 passages in this part. Each passage is
Sollowed by some questions or unfinished state-
ments. For each of them there are four choices
marked A}, B), C) and D). You should decide on
the best choice and mark the corresponding letter on
the ANSWER SHEET with a single line through
the centre.

Questions 21 to 25 are based on the following passage:

There is a pof)ular belief among parents that schools are no
longer interested in spelling. No school T have taught in has ev-
er igngrlgg spelling or considered it unimportant as basic skill.
There are, however, vastly different ideas about how to teach
it, or how much priority must be given over general language
development and writing ability. The problem is , how to en-
courage a child to express himself freely and con;xfidently in
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writing without holding him back with the complexities of
spelling. o

H spelling becomes the only focal point of his teacher’s-in-
terest, clearly a bright child will be likely to “play safe”. He
will tend to write only words within his spelling range, choos-
ing to avoid adventurous language. That’s why teachers en-
courage the early use of dictionaries and pay attention to con-
tent rather than technical ability.

I was once shocked to read on the bottom of a sensitive
piece of writing about a personal experience: “This work is ter-
rible! There are far too many spelling errors and your writing
is illegible”. It may have been a sharp criticism of the pupil’s
technical abilities in writing, but it was also a sad reflection on
the teacher who had omitted to read the essay, which con-
tained some beautiful expressions of the child’s deep feelings.

The teacher was not wrong to draw attention to errorss,
but if his priorities had centred on the child’s ideas, an expres-
sion of his disappointment with the presentation would have

given the pupil more motivation to seek improvement.

21. Teaphers are different in opinions about
A) the difference in teaching spelling
B) the role of spelling in general language development
C) the complexities of the basic skills
D) the necessities of teaching spelling
22. The expression “play safe”probably means .

__4_



A) to write carefully

B) to do as the teachers say

C) to use dictionaries frequently

D) to avoid using words one is not sure of

23. Teachers encourage the use of dictionaries so that

A) students will be able to express their ideas more freely
B) teachers will have less trouble in correcting mistakes
C) students will have more confidence in writing
D)) students will learn to be independent of teachers

24. The writer seems to think that the teacher’s judgment on
that sensitive piece of writing is
A) reasonable B) foolish
C) unfair D) careless

25. The major point discussed in the passage is
A) the importance of developing writing skills
B) the complexities of spelling
C) the correct way of marking compositions ,
D) the relatidnship between spelling and the content of a

composition

Questions 26 to 30 are based on the following passage .

A breakthrough in the provision of energy from the sun
for the European Economic Community (EEC) could be
brought forward by up to two decades, if a modest increase

could be provided in the EEC’s research in this field, according
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to the senior EEC scientists engaged in experiments in solar en-
ergy at EEC’s scientific laboratories in Ispra, near Milan.

The senior West German scientist in charge of the Com-
munity’ s solar energy programme, Mr. Joachim Gretz, told
journalists that at present levels of research spending it was
most unlikely that solar energy would provide as much as three
per cent of the Community’s requirements even after the year
2,000. But he said that with a modest increase in the present
sums, devoted by the EEC to this work it was possible that the
breakthrough could be achieved by the end of the next decade.

Mr. Gretz calculates that if solar energy only provided
three percent of the EEC’ s needs, this could still produce a
saving of about a billion pounds in the present bill for imported
energy each yéar. And he believes that with the possibility of
utilizing more advanced,technolog-y in this field it might be pos-
sible to satisfy a much bigger share of the Community’s future
energy needs.

At present the EEC spends, about $ 2. 6 millions a year
on solar research at Ispra, one of the EEC’ s official joint re-
search centres, and another $ 3 millions a year in indirect re-

search with univesities and other independent bodies.

26. The phrase “be brougii% ’forward” in the first paragraph
most probably means .
A) be expected B) be completed
C) be advanced D) be introduced
6 —



27. Some scientists believe that a breakthrough in the use of
solar energy depends on

A) scientific funding

B) further experiments

C) advanced technology

D) well-equipped laboratories

28. Accordigg to Mr. Gretz, the present sum of money will
enable the scientists to provide

A) a lhittle more than 3% of the EEC’ s needs after the

year 2,000
B) 3% of the EEC’s needs before the year 2,000
C) less than 3% of the EEC’ s needs before the year
2,000
D) only 3% of the EEC’s needs even after the year 2,000
29. Which of the following is NOT true according to the pas-
sage?

A) The EEC spends one billion pounds on imported ener-
gy each year.

B) At the present level of spending, it is difficult to make
any significant progress in the provision of energy from
the sun.

C) The desired breakthrough could be obtained by the end
of the next decade if investment were increased.

D) The total yearly spending of the EEC on solar energy
research amounted to almost 6 million dollars.

30. The application of advanced technology to research in solar

_7_..
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energy

A) would lead to a big increase in research funding

B) would make it unnecessary to import oil

C) would make it possible to meet the future energy needs
of the EEC

D) would provide a much greater proportion of the Com-

munity’s future energy needs &

Questions 31 to 34 are based on the following passage:

With the prospect of coal and petrql‘e;um supplies being de-
pleted (¥£/X) and with air pollution becoming an increasing
concern, the major countries of the world are seeking alternate
_sources of energy. If a means to obtain energy from water, es-
pé(giélly from the ocean, can be effected economically, it would
furnish a never-ending supply of energy, since 70% of the
earth’ s surface is ocean and another 10% is fresh water in
rivers and lakes.

From the beginning of time man has used water power as
a source of work energy—but these are fresh water sources and
are landlocked. The seas have contributed little or nothing in
the way of power.

The use of temperature variation between currents is one
area of exploration. Ocean water is heated by the sun near the
léf_guator and are drawn by the rotation of the earth toward the
poles, where it cools and drops toward the equator. The differ-
ential between the two currents is 35 degrees to 45 degrees

— 8 -



Farenheit and to use it the scientists must find the places where
a;ey run near land and are not too far away from each other.
One area that meets these requirements is the Caribbean Sea.

In the United States the National Space Administration
and the Energy Research and Development Administration
have been working on another kind of thermal sea energy pro-
posal. One plan would somewhat resemble the operation of a
refrigerator on a vast scale. Warm water would be the heat
source, cold water the heat sink. A component such as freon
(HEFIER) would be liquid at a cold temperature and turn to gas
as it is warmed.

Oceans also offer wave power, tides and the chemical
propensities (2]44) of salt water as potential sources of energy
All these uses are theoretically possible.

Britain’s Department of Energy is interested in wave pow-
er, using a string of “tear drop” devices that depends on very
active wave areas and 100 foot depths. In addition to this, the
British are working on a method that the Japanese have already
put into pratical use on a small scale for powering their navaga-
tional buoys. This method is called an oscillating (JEHE#Y ) wa-
ter column and rides the waves with a series of cylinders having
one-way air-valves. Wave movement produces air under pres-
sure that has only one escape route-to a turbine that powers a

generator.

31. The use of water power is



32.

33.

"34.

A) a new concept

B) less expensive than petroleum products

C) now being used more from the ocean than from rivers
and lakes

D) being developed to supplement other sources of energy

In the matter of developing energy from ocean water,

" Britain 1s

A) working on a method that the Japanese have already
put into practice

B) the most advanced country in the world

C) following the lead of the United States National Space
Administration and Energy Research and Development
Administration

D) consolidating their work with the North Sea drilling
operations aiready going on

Getting energy from the ocean is important to

A) Russia because of its limited water resources on land

B) America because of its great consumption of energy

C) Asia because most of the Asian countries lack other
sources of energy

D) South America because a large percentage of the popu-
lation is very poor

The development of water power from the ocean is impor-

tant to the USA and Russia because N

A) there is a severe shortage of coal

B) it is the cheapest method of producing energy

-— 10 —-



* C) petroleum supplies are being steadily depleted
D) the procedures for obtaining energy from ocean water
are simpler than methods now being used for

petroleum

Questions 35 to 40 are based on the following passage:
Resources can be said to be scarce in both an absolute and

in a relative sense: the surface of the Earth is finite, imposing
e datiinle

absolute scarcity; but the scarcity that concerns economists is
the relative scarcity of resources in .different uses. -Materials
used for one purpose cannot at the same time be used for other
purposes; if the quantity of an input is limited, the increased
use of it in one manufacturing process must cause it to become
less available for other uses.

The cost of a product in terms of money may not measure
its true cost to society. The true cost of , say, the construction
of a supersonic jet is the value of the schools and refrigerators
that will never be built as a result. Every act of pro?luction uses
up some of the society’s available resources; it means the fore-
going of an opportunity to produce something else. In deciding
how to use resources most effectively to satisfy the wants of the
community, this opportunity cost must ultimately be taken into
account.

In a market economy the price of a good and the quantity
supplied depends on the cost of making it, and that cost, ulti-
mately, is the cost of not making other goods. The market



mechanism enforces this relationship. The cost of, say, a pair

of shoes is the price of the leather, the labor, the fuel, and

other elements used up in producing them. But the price of

these inputs, in turn, depends on what they can produce else-

where—if the leather can be used to produce handbags that are

valued highly by consumers, the price of leather will be bid up
(Bt34) correspondingly.

35.

What does this passage mainly discuss?

A) The scarcity of manufactured goods.

" B) The value of scarce materials.

C) The manufacturing of scarce goods.

") The cost of producing goods.

36.

According to the passage, what are the opportunity costs
of an item?

A) The amount of time and money spent in producing it.
B) The opportunities a person has to buy it.

“J The value of what could have been produced instead.

37.

38.

D) The value of the resources used in its production.
According to the passage, what is the relationship between
production and resources?

A) Available resources stimulate production.

B) Resources are totally independent of production,:

C) Production increased as resources increase.

D) Production lessens the amount of available resources.
What determines the price of a good in a market economy?
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